Potencias de 10 (G)

Calcule los siguientes productos y cocientes.

5.1814 = 10°

9.9397 = 10°

7.9688 + 10!

1.502 x 10°

9.4859 x 10!

4.874 +10°

4.0073 x 10!

7.2141 x 10!

5.2007 +10?

2.4224 = 10!

1.191 x 10°

5.3954 x 10!

6.5468 x 10!

1.9149 x 10°

9.4494 x 10!

3.3629 + 107

6.5065 x 10°

1.5907 =103

2.6191 x 10!

1.9094 x 103
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Potencias de 10 (G) Respuestas

Calcule los siguientes productos y cocientes.

5.1814 103
0.0051814
9.9397 103
0.0099397
7.9688 + 10!
0.79688
1.502 x 10°
1,502
9.4859 x 10!
94.859
4.874 =103
0.004874
4.0073 x 10!
40.073
7.2141 x 10
72.141
5.2007 = 10?
0.052007
2.4224 = 10!
0.24224

1.191 x 102
119.1
5.3954 x 10!
53.954
6.5468 x 10!
65.468
1.9149 x 10°
1,914.9

9.4494 x 10!
94.494
3.3629 + 10?
0.033629
6.5065 x 102
650.65
1.5907 +10°
0.0015907
2.6191 x 10!
26.191
1.9094 x 10°
1,909.4
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